
 

 
 
 
 

Capital Projects & Purchasing Department 
113 Mable T. Willis Blvd. 

Walterboro, SC 29488 
843.539.1968 

 

 

 

BID: CPST-08 
DEMOLITION AND DISPOSAL OF FACILITY LOCATION 

115 BENSON STREET 

 

BID DUE: WEDNESDAY, MAY 17, 2017 @ 11:00am 

 

Addendum #1 
dated 1-25-2017 

Answers to questions and Contract document clarification 

 

1. The Asbestos Report listed in the bid packet is the correct report for the project. The street 

address listed with-in the report is wrong. The correct street address is; 115 Benson Street, 

Walterboro, SC 29488. The quantities listed in the document do not match the floor plan 

quantities. The corrected document is contained here-in. This document also contains the floor 

plan for the Asbestos report. 

 

2. Disposal of all material from the site, Asbestos related or not, shall be disposed of in a permitted 

facility authorized to receive such debris. All certified weight tickets from the disposal of the 

debris shall be submitted to Colleton County. Failure to submit certified disposal weight tickets 

will result in Colleton County holding all payments for services, until all the certified weight 

tickets can be produced. 

 

3. The general notes listed on the drawings shall be followed as listed in the document, to include 

the onsite water hydrant. Colleton County does not want the water hydrant at the completion 

of the project. This item should be removed when the project is completed.  

 

4. Turf seeding shall be contained with-in the limits of disturbance. The Contractor is not 

responsible for establishing turf in the barren areas under the Oak Trees. 



5. The Bid packet states the working days are five (5) days a week. This has been changed to 

accommodate the accelerated schedule. Working seven (7) days a week is authorized. July 25, 

2017 and September 05, 2017 are the only two (2) days that work should be completed by 

5:00pm to accommodate the Colleton County Council meeting. 

 

6. It was stated at the site meeting that Colleton County would like to keep the A/C units on the 

roof of the building. This has been changed. Colleton County does not want the units. The 

removal and disposal of the A/C units is the responsibility of the Contractor.  

 

7. The Contractor is responsible for all water and power needs while on the property. If permanent 

power is needed, the contractor shall contract with SCE&G to install a temporary pole for all 

power needs. Colleton County will not be responsible for the power needs associated with the 

Demo process.  

 

8. Asbestos Abatement and Air Monitoring shall be performed by licensed South Carolina 

Contractors. All Contractor license shall be presented to Colleton County before starting said 

work. 

 

9. The Contractor has the sole responsible of following all laws and guidelines as set by the South 

Carolina Department of Health and Environmental Control. Any law or guideline not called out in 

the bid documents does not release the Contractor from these responsibilities. Any charge for 

meeting these laws or guidelines shall be included in the Contractors bid.   
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